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8.4

kx

(8.3)

X,
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8.5

_ mdX
F=mg
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t>0

(8.4)



4 t
o St = [ 8 = [ dv (8.5)
t=0 Vo t
Jodv=[y dv=v-vq (8. 6)
(8.5 (8.4
bLxdt = [ Frdt = Tt (8.7)

(8.5 (8.6) (8.7)

Ft =mv—mvg (8.8)
X
(8.8)
Ft F t
[t Fdt (8.9)
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8.1 t

E =} Fdt=[F{]§2 (8. 10)
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E
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8.1
(8.8) F
E
E = [ Fadt Fa: (8.11)
E+fyFodt=0 Fo: (8.12)

(8.11)  (8.12)

(8.12)  (8.10)
(8.12)
Fa I:O
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8.6

Faoc FO
Fa:FO

(8.13)

-134-

(8.12)

(8.13)
(8. 14)



8.7

-135-



- 136-

S/



Fi=(M+m)g (8.19)

t (8.11)
Ey = [ Fadt = [5(M+ m)gdt (8.16)
S
F, = Mg (8.17)
E, = [} Fodt = [} Mgdt (8. 18)
g (8. 16)
(8.18)
(8. 16)
(8.18)
Eq—E, = [omgdt (8.19)
m g
t (8.11)
Es = |, mgdt (8.20)
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8.8

(8.19)

(8. 20)
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8.9

F =Fi1+Fo+Fs3+...+Fy

F=F;-F;=0
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AB

A F B —F
= |F4|
B =|—-Fi]
A B
A,B = |F1|+|=Fi|=|2F4]

IF|=|F1i|+|F2|+ |F3|+ ... + |Fnl

E = |2F 1t = 2F 1t
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(8.21)  (8.22)
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